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GENERAL INSTR UCTIONS:

1. All questions are compulsory

2. The question paper consist of 18 questzons dzvzded into 4 sections A, B, C
and D. Section A comprises of 3 questions of 1 mark each, Section B
comprises of 4 questions of 2 marks each, Section C comprises of 5 qurstions
of 3 marks each and Section D comprise of 6 questions of 4 marks each:

3 A hel e is no overall choice.

SECTION - A

1. Find the least number that is divisible by all the numbers from 1 to 10 (both -
inclusive). -

/Z‘/L;,t AABC ~ ADEF and thelr areas be respectlvely, 64cm and 121cm If
EF=.15. 4cm find BC.

/(m a) is a ractor of (2x? + Zax + S5x + 10) find a.

SECTION - B

4." ABCD is a trapezium in which AB || DC and P, Q are points on AD and B
respectively, such that PQ || DC if PD = 18cm and QC = 15¢m, find AD.

5. Eirid the zeroes of the followmg polynomial and venfy the relatlons between the

zeroes and the coefficients of the polynomial 2x o o X + N

/
: ﬂven that v 3 is 1rrat1onal Prove that 7 — 2\/_ is an 1rrat10nal number.
174(2x +y =23)and (4x — y = 19), ‘thes ﬁnd the values of (5 — 2%) and -

E-2)

v gl 1s <

P
| % 4 SECTION - C ,
o > 'S v : _\4—4 > 1 2n% Y
n a APQR, PR? — PQ? = QR? and M isa pomt on 51de PR such that QM= 2, 14 _ K
endicular to PR. Prove that QM? = PM X MR 2 |

(@:ind k, so that x? + 2x + k is a factor of 2x* + x3 '— 14x2 + Sx +'6. Also, find all
the zeroes of the two polynomials.
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_J,Q’ﬁle LCM of 2 numbers is 14.times their HCF. The sum of LCM and HCF is 600. If
one number is 280, then find the other number. :

)/{/For which value of a and b will the followmg pa1r of linear equations have infinitely

many solutions? |
(x+2y= Dand[(a—b)x+ (a+b)y=a+ b —2]

how that only one of the numbers n, n+2 and n+4 is divisible by 3.

SECTION-D

135izate and prove Thales Theorem. @1

‘l//Th/ree inzasuring rods are 64cm, 80cm and 96cm in length. Find the least
length of cloth than can be measured and exact number of times using any of

th 'S, e

_A shopkeeper gives books on rent for reading. She takes a fixed charge for
the first two days and a additional charge of each day thereafter. Aarti paid
Rs. 22 for a book kept for 6 days, while Ujwal paid Rs. 16 for the book kept
for four days. Find the fixed charges and the charge for each extra day.

16.Prove that the area of the quadrilateral triangle drawn on the hypot-enuse of a
right angled triangle is equal to the sum of the areas of the equilateral
s ‘triangle drawn on the other two sides of the triangle. A

17 A motorboat can travel 30 km upstream and ’78km downstream in 7h. It can
travel 21km upstream and return in. Sh. Fmd the speed of the boat in still
water and the speed of the stream. | |

18.For which values of a and b, the zeroes of q(x) = x3 + 2x?% + q are also
the zeroes of the polynomlal p(x) = x5 — x* — 4x3 + 3x2 "+3x+b?
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